Drumbhillery Primary School

Parent Information Sheet

Decomposition - Tens and Units:

eg 51-27=24

Step 1
Begin at the umits column.
1 unit take away 7 umts. [ cannot do.

Step 2

As you do not have enough units, go to

the tens column. You have 5 tens here. You
need to “exchange’ one of the 5 tens for ten
vmits. Do this by sconng out the 5 and wniting
a small 4. Put the figure 1 (representing one
ten) in front of the 1 umt. You now

have 11 umts.

Step 3

Now you have 11 units and vou can take 7

units away. This leaves 4. Put a number 4 1n
the units column. Now move to the tens column
and subtract the tens. 4 tens take away 2 tens

15 2 tens. Place a figure 2 in the tens column.
The answer 15 24.
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Drumbhillery Primary School

Parent Information Sheet

Decomposition — Hundreds. Tens and Units:

e.g. 653-157=406

Step 1
Begin at the units column. Now say 3 units take
away 7 units. I cannot do.

Step 2

As vou do not have enough units, go to the fens
column. You have 5 tens here. You need to
‘exchange’ one of the 5 tens for ten units.

Do this by sconng ouf the 5 and writing a

small 4. Puf the number 1 (representing one ten)
in front of the 3 units.

13 take away 7 15 6. Put a number 6 mn the units
column.

Step 3

Go to the fens column. 4 tens take away 5 tens.

I cannot do. Go to the hundreds column. You
have 6 hundreds here. You need to “exchange’

1 hundred for 10 tens. Do this by scoring out the
6 and wnting a small 5. Put the number 1 in front
of the 4 tens. 14 take away 5 15 9. Write the
number 9 in the tens column

Step 4

Go to the hundreds column. 5 hundreds take away
1 hundred equals 4 hundreds. Write a 4 1n the
hundreds column. The answer 15 496

HTU
653
-1 57
HTU
6 2 3
-1 57
6
HTU
A 3.3
-1 5 7
9 6
HTU
4 3.3
-1 5 7
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